Attachment 2

Results of questionnaire-based survey on the fact-finding survey regarding trade
practices of cloud services

(for TaaS CSCs/for PaaS CSCs)

<Summary of questionnaire-based survey>

The Japan Fair Trade Commission (JETC) conducted the questionnaire-based survey targeting

CSCs of IaaS, PaaS and SaaS out of cloud services. Its summary is as follows:

Survey target : The JFTC selected 10,000 companies randomly from about 30,000 enterprises that
have sales amount of 5 billion yen or more in the latest business year and sent them a
request to answer the questionnaire. The JFTC asked the companies that utilize laaS
or PaaS to answer “questionnaire for CSCs of [aaS” or “questionnaire for CSCs of
PaaS” of [aaS to answer (in the case they use both IaaS and PaaS, the JFTC asked
them to answer the one of higher using ratio.).

Survey method : Web survey

Implementation period : July 19 to August 20, 2021

Number of respondents : 419 companies for laaS CSCs

129 companies for PaaS CSCs

(Points of attention)
This documents shall generally describe the survey results on multiple-choice questions among
all the questions of the questionnaire.
In the graphs, “The Three CSPs” shall refer to the responses of the CSCs of the three
companies as AWS, Microsoft and Google, and “Others” shall refer to the ones of the CSCs of

the business providers other than the said three companies.




Q1.Please answer about your company’s overview (type of industry).
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Q2.Please fill in the use status of the cloud services (IaaS/PaaS) in your company
so far.

(1) The year you commenced to use laaS/PaaS no matter which service
you currently use, IaaS or PaaS

2008 2009 2010 2011 2012 2013 2014 2015 2016 2017 2018 2019 2020 2021
laaS 2 0 5 10 15 20 26 48 41 39 51 a7 38 17
PaaS 2 0 a 2 0 5 8 12 17 6 14 16 6 9
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(Note: with regard to 2021, up to the time of conducting the questionnaire)



Q2.Please fill in the use status of the cloud services (IaaS/PaaS) in your company
so far.

(2) The year you commenced laaS or PaaS of the highest use amount
among the ones of [aaS/PaaS which you currently use
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2008 2009 2010 2011 2012 2013 2014 2015 2016 2017 2018 2019 2020 2021
laaS 1 0 a 4 9 15 20 39 44 38 52 58 55 26
PaaS 2 0 4 2 0 5 8 12 17 6 14 16 6 9
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(Note: with regard to 2021, up to the time of conducting the questionnaire)



Q2.Please fill in the use status of the cloud services (IaaS/PaaS) in your company
so far.

(3)The year you switched developers /providers of [aaS or PaaS in the
past decade
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2008 2009 2010 2011 2012 2013 2014 2015 2016 2017 2018 2019 2020 2021
laaS 0 0 0 1 1 1 2 4 9 9 5 11 8 6
PaaS 1 0 0 0 2 2 2 0 2 2 3 9 4 2

w

m PaaS mlaaS
n=29 n=57

(Note: with regard to 2021, up to the time of conducting the questionnaire)



Q2.Please fill in the use status of the cloud services (IaaS/PaaS) in your company
so far.

(4)The year you switched from on-premise to [aaS/PaaS in the past
decade
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laa$S 1 5 3 4 15 27 25 30 40 49 35 18

PaaS 0 1 0 2 2 7 7 4 11 11 14 8
B PaaS MlaaS
n=252 n=67

(Note: with regard to 2021, up to the time of conducting the questionnaire)



Q2.Please fill in the use status of the cloud services (IaaS/PaaS) in your company

so far.

(5) The year you switched from IaaS/PaaS to on-premise in the past decade

2010 2011 2012 2013 2014 2015 2016 2017 2018 2019 2020 2021

laasS 0 0 0 0 0 1 0 0 1 3 2 0
PaaS 0 0 0 0 0 0 0 0 1 0 2 0
B PaaS M laaS

n=3 n=7

(Note: with regard to 2021, up to the time of conducting the questionnaire)



Q3.With regard to the following service developers/providers, please answer if
you use [aaS/PaaS or not. In the case where you use, please answer the year
you commenced to use/use amount/types of contracts/main purpose of use and
data capacity.

(1) Existence/non-existence of use [Multiple responses allowed]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

AWS 201(49.6%)

34(27.6%)

94(23.2%)
35(28.5%)

Microsoft

23(5.7%)
3(2.4%)

NTT Communications

Y

17(4.2%)
5(4.1%)

Fujitsu

14(3.5%)
7(5.7%)

Google

183(45.2%)
65(52.8%)

Others

M laaS ™ PaasS

n=405 n=123

(Reference) Main cloud developers/providers included in “Others”

laaS PaaS
Fujitsu Cloud Technologies 15 Salesforce 4
1 12 IBM 3
NEC 10 NEC 3
IBM 10 mJ 3
Sakura Internet 3




Q3.With regard to the following service developers/providers, please answer if
you use [aaS/PaaS or not. In the case where you use, please answer the year
you commenced to use/use amount/types of contracts/main purpose of use and

data capacity.
(4)Types of contracts
laasS 0% 10% 20% 30% 40% 50% 60% 70% 80%  90% 100%
n=201
Microsoft 67 (72.0%)
n=93
Google 8 (57.1%)
n=14
Others 51 (24.2%)
n=211
The Three CSPs 213 (69.2%)
n=308
Total 264 (50.9%)
n=519
mDirect mIndirect
Paas 0% 10% 20% 30% 40% 50% 60% 70% 80%  90%  100%
AWS 16 (48.5%)
n=33
Microsoft 27 (84.4%)
n=32
Google 3 (60.0%)
n=bH
Others 21 (29.2%)
n=72
The Three CSPs 46 (65.7%)
n=70
Total 67 (47.2%)
n=142

® Direct ®Indirect

% While “direct” refers to the case where CSCs conclude the contracts on use of the said IaaS/PaaS with the said
developers/providers themselves (including the cases of applications via the website of each cloud service
developer/provider.), “indirect” refers to use introduction support providers such as Sler etc. and agents for the charge
of'the fees (partners) etc. through the contracts the businesses other than the developers/providers of the said IaaS/PaaS.
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Q3.With regard to the following service developers/providers, please answer if
you use [aaS/PaaS or not. In the case where you use, please answer the year
you commenced to use/use amount/types of contracts/main purpose of use and

data capacity.
(5)Main purpose of use
laaS 0% 10% 20% 30% 40% 50% 60% 70% 80% 20% 100%
=104 (12.4%) )

3 (1.5%) -1 (0.5%)

n=p2
Google
n-'4
n214 (8.9%)
- 2 (0.9%)
n=300
4 (1.3%) -3 (1.0%)
n=E£14 /]
6 (1.2%) ,/(0,5%)
PaaS 0% 10% 20% 30% 40% S0% 60% 70% 80% 90% 100%
AWS

-

e

9 (27.3%) _
1 (3.0%)

2
Microsoft (6.5’6)-
r=31 1 (3.2%) 1 (3.2%)
n=f
Oth
= S - e
n=/1
1 (1.4%) -
n=7J 2 (2.9%) 1 (1.4%)
n-141

3 (21%) 1 (0.7%)
wA. Infrastructure of in-company systems/applications

= B. Infrastructure of the services that CPCs’ companies provide with their customer
C. Distribution of website/contents

= D. Infrastructure of IoT

®E. Machine learning (AI)

w F. Others
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Q3.With regard to the following service developers/providers, please answer if
you use [aaS/PaaS or not. In the case where you use, please answer the year

you commenced to use/use amount/types of contracts/main purpose of use and
data capacity.

(6)Data capacity
laaS o% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
18
n=191
7 (3.7%) —7 3.7%) - Lo (0.0%)
n=g9 1 (11%)

oo o0 (0.0%) -0 (0.0%)
(10.

n=211 4 (1.9%) -0 (0.0%)-0 (0.0%)

(9.2%

n=294 9 (31%) /7 (2.4%) -0 (0.0%)

\ 7/
; (9. il
7 (1.4%

n=50% 1
13 (2.6%) ) -0 (0.0%)
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
Paa$S
AWS
n=20 P \
1 (33%) —1 (3.3%) 1 (3.3%) 1 (3.3%)

Microsoft /
=
n=30 1 (3.3%) 1 (3.3%) 1 (3.3%)-0 (0.0%)

n=&

o0 (0.0%) -0 (0.0%)-0 (0.0%)

Others || {
n=/0
4 (5.7%)

e
2 (2.9%) ~ 0 (0.0%)1
B

(1.4%)
n=66

3 (a5%) —2 (3.0%) 2 (3.0%) -1 (1.5%)

o [ e
n=136 7 (5a%) — 4 (29%) - 2 (1.5%) -2 (1.5%)

m A. Less than 1TB

WB. 1TB or more to less than 10TB  C. 10TB or more to less than S0TB

D. 50TB or more to less thangE. 500TB or more to less than
" 500TB Ll 20PB W F. More than 20PB

B G. Unknown
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Q5.What is the reason why your company introduced IaaS/PaaS (3 as the reason
you chose each cloud service developer/provider will be asked in Q6, please
answer this question regarding the merits by which you can obtain through
introduction of IaaS/Paa$ in the first place.) . [Multiple responses allowed]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

a) Swiftness and flexibility 260 (64.0%)

development/modification of IT system (high system - (55.1%)

scalability, swift response to capacity change etc.)

b) Possibility for persons in charge of systems of CSCs’ 232 (57.1%)
own companies to save time for the efforts of high 6 (52.0%)
importance by outsourcing maintenance/operation of .

systems
i . . i 223 (54.9%)
c) Possibility of stable operation and high availability 8 (35.7%)
(o]
d) Possibility for making security level higher (having 109 (26.8%)
taken information leak preventative measures etc.) 47 (37.0%)
e) Possibility for reducing the amount of the expenditure 107 (26.4%)
for IT systems (possibility for cost reduction) 30 (23.6%)

f) Suggestion from the existing system providers 68 (16.7%)
20 (15.7%)

g) Others 26 (6.4%)
18 (14.2%)

mlaaS mPaasS

n=406 n=127
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Q6.With regard to each cloud service developer/provider answered in Q3, please

answer the reason you chose each cloud service of the said business. [Multiple

responses allowed]

laasS

a) Timing of introduction or the prices and charge =

system in the future

b) Quality as the services including availability,
stability, security and interface etc.

¢) Location of the CPCs’ own data stored in the said
services (country, region)

d) Abundance of related services operated on the said
cloud services including software and applications
provided by the said CSPs (of first party)

e) A large number of operated on the said cloud
services including software and applications
provided by third parties (of third party)

f) A large number of introduction support businesses

and engineers including Sler and consultants etc. who .

can manage the said cloud services

g) Easiness of information collection related to
operation because of substantiality of introduction

results, training and user community etc. related to the |

said cloud services

h) Recommendation for the use of the said services by
introduction support businesses including Sler and
consultants etc. (introduction support businesses
recommended the said services as the suitable ones for
the CSCs’ requirements

i) Convenience or advantage of the use together with

other kinds of IT services provided by the said |

development/CSPs

j) Others

¥ Microsoft
n=41

" AWS
n=195

0%

10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

n§ (61.0%)
.4%

=112 (53.1%)
2 l 169 (56.3
;:_ e J 281 (ss

93)

=08 (32 7%
= 182 (35.6%)

64 (32.8%)
29 (31.9%

10 (71.4%)

J ] 103 (34.3%)
\1 117 (zz 9%)

27 (13.8%)
5 (35.7%)

'74}6 (15.5%)
11.2%

5™

o 118

(29. 3%)
23.1%

55 st.z%)
17.6%

coocecd 72 (24.0%)
784 (16.4%)

B 57 (29.2%)
(25.3%
I 60 (28.4%)

81 (27.0%
o1 39.6%)
13 (6.7%)

H (13 7%)

| » \148
1§ 0%)

?13 7%)
13 %6 7%

sa;sg
e 54 .3%)

23 (7.7%)
36 (7.0%)

1 :71%

The Three
I:JCSPs

=300

© Others [ Total

" Google
n=14

n=211 n=2"1
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0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
17 (51.5%)
15 347 195

.(’8"3 )

ey 66 ?45 2

PaaS

a) Timing of introduction or the prices and charge
system in the future

21 (63.6%)
(63.896)
b) Quality as the services including availability, 7% 66.7%)
stability, security and interface etc. TSI 136 (63.0%)
E\\\\\\\\\ SN \\\\\\\\\\\\\\\\\\] ?565,89‘35
7 (}1 .2%)
8 (23.5%)
c) Location of the CPCs’ own data stored in the said 20.5%
services (country, region) gzozsxi
20.5%
d) Abundance of related services operated on the said 4 (66.7%)
cloud services including software and applications
provided by the said CSPs (of first party)
6 (18.2%)
9 z‘zs.sx)
e) A large number of operated on the said cloud 0 (0.0 6 & )
services including software and applications m B 5 (20.5%)
provided by third parties (of third party) ey 20 (1 798
13 Sas .4%)
f) A large number of introduction support businesses 02 33 3,‘)
and engineers including Sler and consultants etc. who 65.8%
can manage the said cloud services FRPROOLRODON0 555 (34.2%)
g) Easiness of information collection related to
operation because of substantiality of introduction
results, training and user community etc. related to the (0
said cloud services 20 (2? 4%)
13°3%
h) Recommendation for the use of the said services by 35.3%)
introduction support businesses including Sler and
consultants etc. (introduction support businesses )( )
recommended the said services as the suitable ones for 0?,?)'”‘
the CSCs’ requirements :
2 (6.1%)
7 (20.6%)
i) Convenience or advantage of the use together with 0
other kinds of IT services provided by the said 812 3%)
development/CSPs m 12 (8.2
1 iso‘x.;
i) Others 12 (16.4%)
7%2
9.6%)
HAWS u Microsoft ¥ Google * Others Ggéel:)Three £ Total
n=33 n=34 n=6 n=73 n=73 n=146
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The Three

AWS Microsoft Google Others Total
Iaas CSPs
(n=195) | (n=91) (n=14) | (n=211) (n=300) | (n=511)
a) Timing of introduction or the prices and: 61.0% 48.4% 42.9% 53.1% 56.3% 55.0%
charge system in the future (119) (a4) (6) 112) (169) (281)
b Ouliy s the services including | 65:6% | 60.4% | 50.0% | 55.0% 63.3% | 59.9%
availability, stability, security and interface etc. (128) (55) (7) (116) (190) (306)
[ 0 0 0, [ 0
c) Location of the CPCs’ own data stored in 31.3% 37.4% 21.4% 39.8% 32.7% 35.6%
the said services (country, region) (61) (34) 3) (84) (98) (182)
d) Abundance of related services operated on
the said cloud services including software and 32.8% 31.9% 11.4% 6.6% 34.3% 22.9%
applications provided by the said CSPs (of first (64) (29) (10) (14) (103) 117)
party)
e) A.large.numbfsr of operated on the sai.d cl.oud 13.8% 16.5% 35.7% 4.7% 15.7% 11.2%
services including software and applications
provided by third parties (of third party) @7) (15) (5) (10) 47 (57)
f) A large number of introduction support 32.3% 26.4% 7.1% 14.2% 29.39% 23.1%
businesses and engineers including Sler and =i 370 170 70 970 170
consultants etc. who can manage the said cloud (63) (24) 1) (30) (88) (118)
services
g) Easiness of information collection related to
operation because of substantiality of| 28 29 17.6% 7.1% 5.7% 24.0% 16.4%
introduction results, training and user
community etc. related to the said cloud (55) (16) 1) (12) (72) (84)
services
h) Recommendation for the use of the said
services by introduction support businesses o, 0, o, 0, o, [
including Sler and consultants etc. 29.2% 25.3% 1.1% 28.4% 21.0% 21.6%
(introduction support businesses
recommended the said services as the suitable 67 @3 @ (60) 81) (142)
ones for the CSCs’ requirements
i) Convenience or advantage of the use 6.7% 18.7% 14.3% 18.0% 10.7% 13.7%
together with other kinds of IT services
provided by the said development/CSPs 13) an @ (38) 32) (70)
6.7% 8.8% 14.3% 6.2% 71.7% 7.0%
J) Others (13) (8) 2) (13) (23) (36)

% In the graph, the red cell shows the proportion of 50% or more of the respondents and the yellow one as

30% or more to less than 50%.
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The Three

AWS Microsoft Google Others Total
Paa$S CSPs
(n=33) (n=34) (n=6) (n=73) (n=73) | (n=146)
a) Timing of introduction or the prices and 51.5% 47.1% 50.0% 41.1% 49.3% 45.2%
charge system in the future an (16) (3) (30) (36) (66)
. . o 63.6% | 61.8% | 66.7% | 50.7% 63.0% | 56.8%
b) Quality as the services including
availability, stability, security and interface etc. (21) (21) (4) @37 (46) (83)
, | 2L.2% | 23.5% 0.0% 20.5% 20.5% | 20.5%
¢) Location of the CPCs’ own data stored in
the said services (country, region) ) (8 (0) (15) (15) (30)
d) Abundance of related services operated on o 0 o o o o
the said cloud services including software and 33.3% 47.1% 66.7% 19.2% 42.5% 30.8%
applications provided by the said CSPs (of first (11) (16) 4) (14) (31) (45)
party)
e) Alarge number of operated on the said cloud |  18.2% 26.5% 0.0% 6.8% 20.5% 13.7%
services including software and applications
provided by third parties (of third party) (6) © © ®) (15) (20)
f) A large number of introduction support
businesses and engineers including Sler and 39.4% 29.4% 33.3% 6.8% 34.2% 20.5%
cons_ultants etc. who can manage the said cloud (13) (10) 2) (5) (25) (30)
services
2) Easiness of information collection related to
operation because of substantiality of | 271.29% 29.4% 50.0% 12.3% 27.4% 19.9%
introduction results, training and user
community etc. related to the said cloud @ (10) 3 9 (20) (29)
services
h) Recommendation for the use of the said
g o S s " oe| 30.3% | 35.3% | 0.0% | 17.8% 30.1% | 24.0%
(introduction support businesses recommended
the said services as the suitable ones for the (10) (12) © (13) (22) (35)
CSCs’ requirements
i) Convenience or advantage of the use 6.1% 20.6% 0.0% 4.1% 12.3% 8.2%
together with other kinds of IT services
provided by the said development/CSPs @) ) (0) ®3) ) 12)
i) Oth 3.0% 2.9% 0.0% 16.4% 2.7% 9.6%
ers
: @ &) (0) (12) @) (14)

% In the graph, the red cell shows the proportion of 50% or more of the respondents and the yellow one as

30% or more to less than 50%.
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Q7.With regard to the cloud services you answered in Q3 at the time of
considering introduction, is there anything that you wished to know more or
thought you should have asked at the time of service selection in the
information provided by the developers/providers (prices, stability and
availability, security, location of data and the information on the realizable
range by the said service)?

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%  100%
laasS

AWS

n=194 3 (1.5%
n=91 0 (0.0%) -
n=13 0 (0.0%
Others

n=211 .

The Three CSPs
n=2¢8 3 (1.0%
n=608 14 (2.8%)
0% 10% 20% 30% 40% 50% 60% 70% 80% 90%  100%
PaaS

n=31 0 (0.0%

-’ i

n=35 1 (2.9%) -
n=8 0 (0.0%
Others

n=/2

4 (5.5%

n=7 1 (1.4%) -
n=148 5 (3.4%)

w a) All necessary information was available at the time of service selection and there was no problem

Wb) Some of the information obtained at the time of service selection was not sufficient, and it was necessary to purchase
additional services or change to a higher level of service after implementation

w ¢) As the information obtained during service selection was not sufficient, there is some concern about the use of the service,
although no special measure is currently taken

© d) Others
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Q8.With regard to the CSPs who answered other than a) in Q7, what is the matter
that you think insufficient as the information obtained from service
developers/providers at the time of service selection (in case of choosing the

item other than a) in Q7)? [Multiple responses allowed]

laasS

a) Prices and charging system at the said
time and possibility of changing prices and
charging system in the future

b) Conditions and restrictions on stable
operation of system (changes in
performance due to increase in traffic etc.)

¢) Achievements in availability and

responses to service quality declines, such 13 (38.2%
as in the event of a failure A ASSOOOOO O OOoOT ] 29 (40.3%)
S \\\\\\\ S 42 (39.6%)
6 (15.4%)
5 (16.1%)
d) Strength and standard of security 0 (0.0%,
— : (zs 5%)
11 (15 3%)
3 20 (18.9%)
5 (12.8%)
e) Location (country, region) and treatment o/ 3 (9.7%)
of the data of the CSC’s own company 0 L0.0 088 8%)
stored in the said service 8 (11.1%)
3 11 (10.4%)
6 (15.4%)
o
f) Interoperability with IT services provided 0 (0.0% 7 (22.6%)
by other businesses such as : | s (14.7%)
availability/unavailability of link with the ] 13 (18.1%)
existing system of the CSC’s own company o oo o 18 (17.0%)
6 (15.4%)
¢ 362;%)
Others 0 (0.0%
e | 9 (26.5%)
7 (9.7%)
Ny 16 (15.1%)
5 (12.8%)
1 (3.2%)
. : . 0 (0.0%)
h) There is nothing special | 5 (14 7%)
6 (8.3%
11 (10.4%) The
W AWS  m Microsoft mGoogle = Others E](T:};’If: 3 Total
n=349 n=31 n=2 n=34 n=72 n=108

0%

14 (35,9%)
15 (48.4%)
1 (50.0%)

* 1o 29.4%
| 30 (41.7%)
40 (37.7%)

15 (38.5%)

11 (35.5%)

1 (50.0%)
12 (35.3%)

5] 27 (37.5%)

= 39 (36.8%)

15 %38.5%)
12 (38.7%)
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PaasS

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
3 (42.9%)
0,
a') Prices and.chgrging syste.m at Fhe said i gggé:
time and possibility of changing pricesand =~ 8 (42.1%)
charging system in the future g aararerarasas] 7 (46.7%)
R ] 14 (44.1%)
3 (42.9%)
2 (33.3%)
b) Conditions and restrictions on stable 1 (50.0%)
operation of system (changes in | ' 8 (42.1%)
performance due to increase in traffic etc.) supnanunanah e as ] 6 (40.0%)
T 14 (41.2%)
2 (28.6%)
, ' o 2 (33.3%)
¢) Achievements in availability and 0o
responses to service quality declines, such 1 (5.3%
as in the event of a failure cooceceoeood 4 (26.7%)
5 (14.7%)
-1 (14.3%)
1 (16.7%)
d) Strength and standard of security 0 -
Do s (26.3%)
S 13.3%)
7 (20.6%)
0 (0.0%
e) Location (country, region) and treatment 0 0-0:%
of the data of the CSC’s own company 0 (0.0% (10.5%)
stored in the said service >07] 2 (157
By 2 (5.9%)
o ' . 0 (0.0%)
f) Interoperability with IT services provided [ 1 (16.7%)
by other businesses such as 0
availability/unavailability of link with the -~ 2 (10.5%)
existing system of the CSC’s own company | 13(6('87. ::,)o)
I 1 (14.3%)
0
g) Others T 2 (105%)
1 (6.7%)
3 (8.8%)
0 (0.0%)
1 (16.7%)
0
. . : o 2 (105%)
h) There is nothing special o 1 (6.7%)
3 (8.8%) The
HAWS M Microsoft  Google " Others Dg;;: £ Total
n=7 n=6 n=2 n=19 n=15 n=34
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Q9.With regard to provision of laaS/PaaS by cloud service developers/providers
answered in Q3, do you have the following problems or complaints?
(excluding the problems or complaints such as discrepancies in information

asked in Q7 and A8.) [Multiple responses allowed]

laaS

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

18 (9.4%)
17 (19.3%)
4 (30.8%)

a) The contents of contracts including the prices
etc. are changed unilaterally

11 (5.1%)
| 39 (13.4%)
50 (9.9%)

24 (12.6%)
14 (15.9%)
2 (15.4%)

16 (7.4%)
‘| a0 (13.7%)

EREY 56 (11.0%)

35 (18.3%)
c) Even though the failure occurs on the side of 15 (17.0%)
developers/providers, — post-facto  report on 1 (7.7%)

measures taken for prevention of reoccurrence etc. 24 (11.2%)

b) The service that have been provided is voluntarily
(discretionarily) terminated or the contents of the,
service are suddenly changed

has not been reported or is not sufficient [es | 51 (17.5%)
Ty 75 (14.8%)
2 (1.0%)
I 2 (2.3%)
d) Even though availability becomes less than the
. . 0 (0.0%)
one specified by SLA etc. due to the failure on the 5 (2.3%)
side of developers/providers, the service has not | , ( '4%)
been compensated as determined in advance % 9 (1.8%)
1 (0.5%)
2 (2.3%)
e) Even though the service is an undesired one, its 0 (0.0%)
use (purchase) is forced 2 (0.9%)
3 (1.0%)
5 (1.0%)
7 (3.7%)
3 (3.4%)
1 (7.7%)
f) Others g (h.s%)

[<] 11 (3.8%)
Ry 17 (3.4%)

130 (68.1%)
55 (62.5%)
g) The contents mentioned above have not been 6 (46.2%)
169 (78.6%)
N o N

experienced and there is no special problem
5] 191 (65.4%)
Tany seo (71.0%)

The
Gl Ehree Total

B AWS W Microsoft W Google Others
n=191 n=88 n=13 n=215 n=292  n=b07
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PaaS

0% 10% 20% 30% 40% 50% 60% 70% 80%
4 (12.9%)
7 (21.2%)
a) The contents of contracts including the prices etc. o (g.0%)
are changed unilaterally I 5 (6.8%)
55900 11 (15.7%)
16 (11.2%)

. 3 (9.7%)
b) The service that have been provided is voluntarily 3 (0.1%)

(discretionarily) terminated or the contents of the -0 (0'509?2_’ 8%)
service are suddenly changed o] 6 (8.6%)
11 (7.7%)

5 (16.1%)
¢) Even though the failure occurs on the side of 4 (12.1%)

developers/providers, post-facto report on measures 0 (0.0%)

taken for prevention of reoccurrence etc. has not | 7 (9.6%)
been reported or is not sufficient srvaed] 9 (12.9%)
16 (11.2%)
3 (9.7%)
1 (3.0%)

d) Even though availability becomes less than the = (0.0%)
one specified by SLA etc. due to the failure on the ; 4 (1.4%)

side of developers/providers, the service has not 7] 1 (5.7%)
been compensated as determined in advance S 5 (3.5%)

0 (0.0%)
M 2 (6.1%)

¢) Even though the service is an undesired one, its . 0 (0.0%)

. 1 (1.4%)
use (purchase) is forced @ 2 (2.9%)

3 (2.1%)

0 (0.0%)
B 1 (3.0%)
o (0.0%)
f) Others 5 (6.8%)
1 (1.4%)
6 (4.2%)

21 (67.7%)

g) The contents mentioned above have not been

experienced and there is no special problem 53 (72.6%)
sennuLnReenineaT ad T RT R Gl 510 1(72:994)
A N 104 (72.7%)
B AWS  BMicrosoft 1 Google 11 Others mgl;]:);rhree Total
n=31 n=33 n=6 n=73 n=70 n=143
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24 (72.7%)
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100%



QI10.Have you ever had any concern about the data management for your
company by cloud service developers/providers answered in Q3 or actually
suffered any disadvantage?

10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
laa$
n=1¢4 10 (5.2%
Microsoft
n=¢0 0 (0.0%
Google
n=14 0 (0.0%
Others
n=z16 13 (6.0%
n=208 10 (3.4%
n=514 23 (4.5%)
wa) We have suffered disadvantages # b) We have never suffered disadvantages but have any such concern
wc) We have never suffered disadvantages nor have had © d) Unknown
concern
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
Paa$S
~ IS e
n=33 0 10.0%
n=34 0 (0.0%
n=6 0 (0.0%
n=71 2 (2.8% 2 (2.8%
The Three CSPs
n=73 0 (0.0%
Total
n=144 2 (1.4%

wa) We have suffered disadvantages ¥ b) We have not suffered disadvantages, but have such concern

m ¢) We have never suffered disadvantages nor have had = d) Unknown
concern

22



Q11.If your company considers increase in the use of cloud services in the future,
do you consider introduction of the services of developer/provider of
IaaS/PaaS (you currently use) that you answered in Q3? Or do you decide the
services by comparing the said service with the one of other cloud service
developers/providers from scratch?

laaS
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
AWS
n=184
1 (0.5%) 2 (1.0%)
n=92 3 (3.3%) 1 (1.1%)
Google
n=14
o (0.0%)
Others
n=214
9 (4.2%) 9 (4.2%)
The Three CSPs
n=300 5 (1.7%) 3 (1.0%)
Total
n=9514

14 (2.7%) 12 (2.3%)

® a) In principle, we consider the service of developer/provider of laaS/PaaS that we currently use with priority

 b) We would rather consider the service of developer/provider of laaS/Paa$S that we currently use with priority

m ¢) We consider to newly introduce a service in light of business characteristics and functions/quality of service, whether we have
already used the service of a particular cloud service developer/provider or not

= d) We would rather consider the services of other cloud service developer/provider with priority

M ¢) In principle, we consider the services of other cloud service developer/provider with priority
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Paas 0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

AWS
n=33

o (0.0%) o (0.0%)

Microsoft

n=34 1 (2.9%) <0 (0.0%)

Google
n=6

0 (0.0%) o (0.0%)

- Others
n=73

3 (4.1%) 2 (2.7%)

The Three CSPs
n=73

1 (1.4%) o (0.0%)

Total
n=146

4 (2.7%) 2 (1.4%)

m a) In principle, we consider the service of developer/provider of laaS/PaaS that we currently use with priority

mb) We would rather consider the service of developer/provider of laaS/PaaS that we currently use with priority

) We consider to newly introduce a service in light of business characteristics and functions/quality of service, whether we have
already used the service of a particular cloud service developer/provider or not

1 d) We would rather consider the services of other cloud service developer/provider with priority

me) In principle, we consider the services of other cloud service developer/provider with priority
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Q12.What is the reason for choosing the response in Q117 (in case of choosing a)
or b)in Q11) [Multiple responses allowed]

laaS
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

72 (52.9%)
36 (61.0%)

a) The charge system can reduce the costs rather by

integrating  to  the  services of  laaS/PaaS 7 (70.0%)
developer/provider that they currently use than using a
combination with other ones of cloud service - mE—— ‘46 ‘(fIO.7<%)
developers/providers 1 nnney 121 115 (56.1%)
S
L e (o)
62 (45.6%)
b) It is difficult to introduce IaaS or PaaS of other cloud
service developers/providers as usability of JaaS/PaaS that 25 (42'4%)
CSCs currently use differ significantly from one of other 2 (20.0%)
cloud service developers/providers from the viewpoint of 40 (3 5_4%)
proficiency of persons in charge of IT system and human ‘ 89 (43 4%)
resource system who can deal with multiple services etc. e '
N
LMY 129 Goe%)
26 (19.1%)
¢) It is expected that IaaS or PaaS of other cloud service 11 (18.6%)
developers/providers cannot easily link to IaaS or PaaS of ' 1 (10.0%)
other cloud service developers/providers from technical 30 (26 5%)
aspects in the case where it is required to link to the ’
. 8 (18.5%)
ystem constructed on IaaS/PaaS that CSCs currently use [:%. %% 5% -
L 68 )
. 19 (14.0%)
d) It is difficult or takes a labor and time to find 8 (13.6%)
introductfon support providers and engineers who c.an 0 (0’0%)
deal with laaS/PaaS of other cloud service
developers/providers 24 (21'2%)
R 427 (13.2%)
w
L 51 (6.0%)
10 (7.4%)
4 (6.8%)
¢) Others 1 (10.0%)
11 (9.7%)
il 15 (73%)
N 26 (8.2%)
The Three
mAWS m Microsoft = Google 1 Others CPSs Total
n=136 n=59 n=10 n=113 n=205 n=318
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PaaS

0% 10% 20% 30% 40% 50% 60% 70% 80% 90%

15 (60.0%)

a) The charge system can reduce the costs rather by 1% tars%

integrating to the services of IaaS/PaaS
developer/provider that they currently use than 1 (25.0%)
using a combination with other ones of cloud 22 (56.4%)

service developers/providers 2 < . ; rand 27 (51.9%)

b) It is difficult to introduce IaaS or PaaS of other 5 (20.0%)
cloud service developers/providers as usability of 9 (39.1%)
laaS/PaaS that CSCs currently use differ
significantly from one of other cloud service
developers/providers from the viewpoint of 13 (33.3%)
proficiency of persons in charge of IT system and ;i il 14 (26.9%)

human resource system who can deal with multiple

services etc.

5 (20.0%)

c) It is expected that laaS or PaaS of other cloud 6 (26.1%)

service developers/providers cannot easily link to

. 2 (50.0%)
JaaS or PaaS of other cloud service
developers/providers from technical aspects in the 9 (23.1%)
case where it is required to link to the system 13 (25.0%)
constructed on laaS/PaaS that CSCs currently use 22 (24.2%)
d) It is difficult or takes a labor and time to find .
introduction support providers and engineers who 5 (21.7%)
can deal with laaS/PaaS of other cloud service 1 (25.0%)
developers/providers
| 8 (15.4%)
3 (12.0%)
e) Others 1 (a3%)
o (0.0%)
6 (15.4%)
4 (7.7%)
10 (11.0%)
. The Three
uAWS ® Microsoft u Google  Others O cpss Total
n=26 n=23 n=4 n=39 n=52 n=91

26

100%



The Three

laaS AWS Microsoft Google Others CSPs Total
(n=136) | (n=59) (n=10) | (n=113) (n=205) | (n=318)
a) The charge system can reduce the costs rather by o o o 0 o o
integrating to the services of IaaS/PaaS 52.9% 61.0% 70.0% 40.7% 56.1% 50.6%
developer/provider that they currently use than using
a combination with other ones of cloud service (72) (36) @ (46) (115) (161)
developers/providers
b) It is difficult to introduce IaaS or PaaS of other
cloud service developers/providers as usability of
laaS/PaaS that CSCs currently use differ
significantly from one of other cloud service 45.6% 42.4% 20.0% 35.4% 43.4% 40.6%
developers/providers from the viewpoint of
proficiency of persons in charge of IT system and (62) (25) (2) (40) (89) (129)
human resource system who can deal with multiple
services etc.
c¢) It is expected that laaS or PaaS of other cloud
service developers/providers cannot easily link to,
TaaS  or PaaS of other  cloud  service| 19-1% | 18.6% | 10.0% | 26.5% 18.5% | 21.4%
developers/providers from technical aspects in the
case where it is required to link to the system (26) (11) (1) (30) (38) (68)
constructed on laaS/Paa$S that CSCs currently use
d) It is difficult or takes a labor and time to find o o 0 o o o
introduction support providers and engineers who 14.0% 13.6% 0.0% 21.2% 13.2% 16.0%
can deal with IaaS/PaaS of other cloud service
developers/providers (19) (8) (0) (24) (27) (51)
¢ Others 7.4% 6.8% | 10.0% | 9.7% 7.3% 8.2%
(10) (4) (1) (11) (15) (26)

¢ In the graph, the red cell shows the proportion of 50% or more of the respondents and the yellow one

as 30% or more to less than 50%.
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. The Three
AWS Microsoft | Google Others Total
PaaS CSPs

(n=25) (n=23) (n=4) (n=39) (n=52) (n=91)
a) The charge system can reduce the costs rather by
integrating to the services of laS/PaaS| 60.0% | 47.8% | 25.0% | 56.4% 51.9% | 53.8%
developer/provider that they currently use than using
a combination with other ones of cloud service (15) (11) (1) (22) (27) (49)
developers/providers
b) It is difficult to introduce IaaS or PaaS of other
cloud service developers/providers as usability of
laaS/PaaS that CSCs currently use differ o, o, ) 0 o, o,
significantly from one of other cloud service 20.0% 39.1% 0.0% 33.3% 26.9% 29.7%
developers/providers from the viewpoint of
proficiency of persons in charge of IT system and (5) (9) (0) (13) (14) (27)
human resource system who can deal with multiple
services etc.
c) It is expected that IaaS or PaaS of other cloud
service developers/providers cannot easily link to o o ® o o o
aaS  or PaaS of other cloud  service| 20:0% | 26.1% | 50.0% | 23.1% 25.0% | 24.2%
developers/providers from technical aspects in the (5) (6) (2) (9) (13) (22)
case where it is required to link to the system
constructed on laaS/Paa$ that CSCs currently use
d) It is difficult or takes a labor and time to find 0 o, o o, o o
introduction support providers and engineers who 8.0% 21.7% 25.0% 5.1% 15.4% 11.0%
can deal with laaS/PaaS of other cloud service (2) (5) (1) (2) (8) (10)
developers/providers
& Others 12.0% | 4.3% | 0.0% | 15.4% 7.7% | 11.0%

(3) (1) (0) (6) (4) (10)

% In the graph, the red cell shows the proportion of 50% or more of the respondents and the yellow one

as 30% or more to less than 50%.

28




Q13.Is your company using the system where you use laaS/PaaS of each cloud
service developer/provider you answered in Q3 by incorporating and linking
the businesses (of third-party) other than the said business (of first-party)?
Please answer the current status of use and the consideration status at the time
of introduction of software and applications

70% 80% 90% 100%
laasS

190 (o 5% - -7 (3.7%)
Microsoft
n=87

Google ;
n-1i (7:7%) 3 (23.1%
! o (0. O%
Others
n=7h
(1.4% 6 2 8%, 13 (6.0%

The Three CSPs
n=290

=505 5 (1.0%

¥a) We have been using third-party service other than the said cloud service developer/prov1der (of first-party)

» b) While we previously used a third-party service, as the said cloud service developer/provider (of first party) has started to provide its
own functions, we switched from it to the said first-party service

» ¢) While we previously used a third-party service, due to the reason other than b), we haven’t used it at present

« d) While we recognized that a third party had provided the similar service at the timing of introduction of software and applications,
as we chose the service of the said cloud service developer/provider (of first party), we haven’t used the third-party service

m e) As we understood that the service of the said cloud service developer/provider (of first party) is the only one that provides our desired
functions at the timing of introduction of software and applications and thus we have used the said first-party service, we haven’t used
a third-party service

¥ f) Software and applications not linked to laaS/PaaS

mg) Unsure
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10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

PaaS
AWS
n=32
Microsoft
n=34

Google
n=§

Others
n=71
The Three CSPs
2=73
Total
n-144

ma) We have been using third-party service other than the said cloud service developer/provider (of first party)

ub) While we previously used a third-party service, as the said cloud service developer/provider (of first party) has started to provide its
own functions, we switched from it to the said first-party service

w c) While we previously used a third-party service, due to the reason other than b), we haven’t used it at present
©d) While we recognized that a third party had provided the similar service at the timing of introduction of software and applications,
as we chose the service of the said cloud service developer/provider (of first party), we haven’t used the third-party service

m €) As we understood that the service of the said cloud service developer/provider (of first party) is the only one that provides our desired
functions at the timing of introduction of software and applications and thus we have used the said first-party service, we haven’t used
a third-party service

w f) Software and applications not linked to IaaS/PaaS

mg) Unsure
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Q13-1.(In the case of answering b) or d) in Q13.) What is the reason you have
chosen the service of the cloud service developer/provider (of first party) in
comparison with the third-party one? [Multiple responses allowed]

laas
0% 10% 20% 30% 40% S50% 60% 70% 80% 90% 100%
2 (25.0%)
, 5 (71.4%)
a) As it keeps costs down 0 (0.0%)

1 (12.1%) }
S8SSSSSENANAT ] 7 (43.8%)
As——— 8 (32.0%)

5 (62.5%)

b) As it becomes easier for
operation/management (including the clerical ____ : : 6 (66.7%

18 (50.0%)
work for payment e 14 (56.0%)

¢) Compared to third-party services, the
service of the developer/provider (of first
party) is easier to connect with laaS/PaaS of .. -

6.
the said developer/provider 1 ::o‘%)
0.0%,
d) Others = 2 (22.2%)
(0.
mAWS » Microsoft u Google Others u'(l;léepghree 3 Total
n=8 n=7 =1 n=9 n=16 n=25
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Q14.In the case where your company provides your customer with the service by
making use of laaS/PaaS of the cloud service developer/provider (for example,
(1) providing business to provide SaaS by making use of TaaS/PaaS as the basis
for the cloud service developer/provider, (i1) providing applications and
software that operate on IaaS/PaaS of the cloud service developer/provider
and have special functions and the like.), have or had the service that the cloud
service developers/providers provides by themselves been competing with the
services that your company provides?

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

n=382 5 (1.3%)
n=116 1 (0.9%)

ma) Yes, we are or were competing
mb) No, we do not compete or provide such services

m c) Unknown



Q15.(in the case of answering “a) Yes, we are or were competing” in Q14), have
you suffered disadvantages due to the actions by the cloud service
developers/providers? Or do you have any such concern?

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

laaS

n=H

PaaS
n=1

ma) We have suffered disadvantages mb) We have never suffered disadvantages but have a concern

mc) We have never suffered disadvantages nor have had such
concern



Q16.Does your company introduce multiple [aaS/PaaS provided by different
cloud service developers/providers (so-called “multi-cloud”) and use a
combination of and [aaS/PaaS by selecting the best service for each operation
phase or assign the same function to laaS/PaaS provided by different providers

to achieve redundancy?

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
laas 330 (82.1%)
n=402
PaaS 112 (87.5%)
n=128

ma) We have already introduced multi-cloud ~ mb) We are yet to be introduced multi-cloud



Q17.(In case of answering a) in Q16.) What is the reason your company combine
different cloud service developers/providers for use? [Multiple responses
allowed]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

a) For the purpose of redundancy and risk 16 (22.2%)

diversification (for the purpose of preparing for
disasters and failure at the side of cloud services 4 (25.0%)
developers/providers, and system failure etc. due to

overload)

o,
b) For the purpose of reducing dependency on 14 (19.4%)
specific cloud services developers/providers with

the future switch of IaaS/PaaS in mind (to avoid so- 5 (31.3%)

called “vendor lock-in”

¢) For the purpose of introducing the cloud services 58 (80.6%)

that are excellent at processing concerning the said

operation in the functional aspects according to the
P P & 12 (75.0%)
contents and nature of operation

d) Others

0 (0.0%)

L BEEN M PaaS
n=72 n=16
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Q17-1.(In case of answering a) in Q16.) When your company combine different
cloud service developers/providers of laaS/PaaS for use, was there any factor
that made such combination of use difficult? [Multiple responses allowed]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

a) It is technically difficult to link the laaS/PaaS

originally introduced with laaS/PaaS developed by 9 (14.5%)

different developers/providers

1 (6.7%)

b) It is costlier to use laaS/PaaS provided by a different

developer/provider(e.g. in the case where the 17 (27.4%)
developer/provider tries to link to other laaS/PaaS,
data migration fees need to be paid. In the case of using 3 (20.0%)

laaS/PaaS of the same developer/provider, some
discount is available)

c) Costs (e.g. labor cost, education/training costs) are

required to develop human resources that can handle 0 (0.0%)
TaaS/PaaS provided by multiple developers/providers

1 (1.6%)
d) Others
1 (6.7%)

e) We can't think of anything in particular

26 (41.9%)

10 (66.7%)

M laaS W PaaS

n=62 n=15



Q18.(In case of answering b) in Q16.) What is the reason your company do not
combine different cloud service developers/providers of [aaS/PaaS for use?
[Multiple responses allowed]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

a) It is technically difficult to link the laaS/PaaS
originally introduced with IaaS/PaaS developed by

17 (5.3%)

different developers/providers 10 (9.3%)

b) It is costlier to use laaS/PaaS provided by a different
developer/provider (e.g. in the case where the
periprovider (c.g. | 62 (19.4%)
developer/provider tries to link to other laaS/PaaS, data

migration fees need to be paid. In the case of using 19 (17.8%)
laaS/PaaS of the same developer/provider, some

discount is available

o,
c) Costs (e.g. labor cost, education/training costs) are 70 (21.9%)

required to develop human resources that can handle

: . ) 14 (13.1%)
TaaS/PaaS provided by multiple developers/providers

14 (4.4%)
d) Others
7 (6.5%)

215 (67.2%)
e) There is no need to use a combination of services

72 (67.3%)

M laaS M PaasS
n=320 n=107
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Q21.In the case where the prices of all laaS/PaaS (that is, laaS/PaaS that your
company currently use and the one that you currently do not use) increases by
5 to 10%, how does your company take measures for that?

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

11 (2.7%)

3 (2.3%)
m a) We will continue to use [aaS/PaaS

mb) We will switch to on-premise

i ¢) Unknown/unsure



Q22.In the case where only the price of [aaS/PaaS that you currently use increases
by 5 to 10% while the data amount currently used remains unchanged, how
does your company take measures for that? (in the case where your company
use multiple laaS/PaaS, please answer the question in the case where only the
price of [aaS/PaaS of the highest use amount among the ones of laaS/PaaS
which you currently use increases by 5 to 10%.)

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

- I -
n=370 ‘

|
25 (6.8%) - 10 (2.7%)

n=110 y 3
5 (4.5%) 3 (2.7%)
m a) We will continue to use [aaS/PaaS that we currently use
m b) We will switch to [aaS/PaaS that we currently do not use

m c) We will switch to on-premise

d) Unknown/unsure



Q23.In the case where only the expenses on on-premise increase by 5 to 10%
while the data amount currently used remains unchanged, how does your

company take measures for that?

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

laa$ 143 (38.8%)
n=369
6 (1.6%)
P‘as _u ‘M 48 (44.09{.)
n=104 |
/
5 (4.6%)

ma) We will continue to use on-premise

mb) We will switch to [aaS/PaaS that we currently use

mc) We will switch to IaaS/PaaS that we currently do not use
©d) We currently do not use on-premise

me) Unknown/unsure
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Q25.With regard to the highest amount of [aaS/PaaS among the ones you
currently use, please answer the matter that you regard as the factor that make
you difficult to switch from the said IaaS/PaaS.[ Multiple responses allowed]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

a) A new service that has similar functions to those of the existing system 300 (79_2%)
will incur costs (expenses, time, labor) to build and operate a system d
89 (71.8%)

b) The current contract prohibits/restrains us to transfer our data from the 12 (3.2%)
existing system to another service
g8y 8 (6.5%)

c) Although the current contract permits us to transfer our data from the o
existing system to another service, we will need to pay the cost of retrieving 57 (15'0 /°)
the data due to data transfer fees incurred from system porting(cancel) (such 22 (17_7 %)
fees also incur in normal use regardless of system porting(cancellation))

40 (10.6%)
d) As the data format in the existing system is different from that of a new o
service, data transfer is technically impossible or requires some processing 26 (21'0 /0)

¢) The use contract for the existing system imposes constraints on use for a 24 (6.3%)
certain amount of time or use of a certain volume. Therefore, the cost of any 9 (7 3% )

: . . 3%
unused portion or a cancellation fee must be paid

37 (9.8%)
f) New services do not support certain important software/application 19 (15.3% )

functions used in the existing system

146 (38.5%)
Unfamiliar technologi knowled, t be I d fc i
g) niamihar technologies or owledge must be learne Or a new service 41 (33.1%)
14 (3.7%)
h) Others 5 (4.0%)

T N 39 (10.3%)
i) Nothing in particular (switching is not difficult) 15 (12 1% )
d7%

M |aaS W PaasS
n=379 n=124
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Q27.Does your company take measures to facilitate switching from laaS/PaaS of
the cloud service developer/provider answered in Q3 (measures to avoid so-
called “vendor lock-in”? [Multiple responses ]

0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

41 (13.9%)
a) We have provided multiple [aaS/PaaS of different
cloud service developers/providers with the same

functions (so-called “multi-cloud”) 15 (14.7%)

b) We facilitate porting of applications between the 31 (10.5%)

cloud services by making use of the technologies of

containerization 12 (11.8%)

¢) In the contracts with the counterpart such as 37 (12.5%)
developers/providers of laaS and introduction
support providers, the clauses are contained to
support system porting by the said counterpart and

data porting when switching laaS

15 (14.7%)

192 (64.9%)
d) Others

67 (65.7%)

M |aas M PaaS
n=296 n=102
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